[— ]
SMA-WK-4D Installation Instruction

ENind kit 250Km/h for 4Ft antennas]
NMT-40-1108-00 173 m—

K‘I’his kit allows to increase the 4Ft antennas survival wind speed\
from 200Km/h to 250Km/h

Required tools
<«
: ! 32,5
25 50N.m 19
2

19-17-13-8

-17-13-8

> X1
-/\% —— Grease (provided by RFS)F———

It is important to mount the antenna exactly as described in this installation instruction.
The i lled shall be insp i once per year by qualified personnel.

RFS disclaims any reponsibility for the result of improper or unsafe installation.

This installation instruction has been writen for qualified, skilled personnel.
\ We reserve the right to alter details, expecially with respect to technical improvement J

E/v
NMT-40-1108-00

ind kit 250Km/h for 4Ft antenna

SMA-WK-4D Installation Instruction

S]
2/3

( DISASSEMBLING |




Wind kit 250Km/h for 4Ft antennas RFS

NMT-40-1108-00

Sway bar
extremity

2 U-bolts M6/33
4 washers 6.4
8 nuts M6

Fixing plate
sway bar 27

SLnutM10
Washer 10.5

[
SMA-WK-4D Installation Instruction 3/3 z

Fixing clamp sway bar
(L-Profil 60x60)

Screw M10x30 — ﬁ

Typical config. ®
for direct mount on 2]
angle tower structure

Fixing clamp sway bar
(L-Profil 60x60)

SL nut M10
Alternative config. Washer 10.5

With optional interface Screw M10x30
SMA-SKO-UNIVERSAL
For installation on tower

pipe or angle structure

Optional interface
SMA-SKO-UNIVERSAL

Screw M10x30
Washer 10.5
SL nut M10

-

After sway bar
positioning torque tighten
all bolted joints

( Sway bar orientationj \




